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GENERAL INSTRUCTIONS TO THE EXAMINEES : B
1) qheefl gdyem WO TH-TF W AW HAiamd: fod |

Candidate must write first his/her Roll No. on the question paper compulsorily. -
2) @i T &9 H a2 |

All the questions are compulsory.

3) T S 1 I &) T IR-GfEe H g ford |

Write the answer to each question in the given answer-book only.

4) T wot # i @vs &, 37 off % I T 91 8l o |
For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) WwA-TA % fad) 9 IR wuie # fRe R oAy Afe /3R / ferienyE e W R
W1 % S H TE A |

If there is any error/difference/contradiction in Hindi and English versions of the
question paper, the question of Hindi version should be treated valid.

6) WA FHH 147 207 TR forehed 2 |
There are internal choices in Q. No. 14 to 20.
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SECTION —A

L. E@Wﬁm:
= el % I ol fyew T w0 Iw-gftrs § faflg |

Multiple Choice Questions :

Write the correct option of answer of the following questions in the answer-book.

) FH-H saEE it v 9y S P s w PR e 2 e (1)

) wgwE ufy ¥) YRRise U
q) e Ui ?) =NE
Which endocrine gland regulates metabolism for body growth ?
A) Thymus gland B) Thyroid gland
C) Adrenal gland D) Pancreas
ii) -8 9§, [egead () g T e ) 3ty & w8 7 1]
) T ) wEEar
q) wemifean g) g3
In which organism, new organisms can be produced by regeneration ?
A) Planaria B) Leishmania
C) Plasmodium D) Earthworm
iii) Wa o g T qF HT WAT 8, S GaiE § - 1]
31) TS0 § q) WE |
) I 4§ g) ufaEd |
The kidney in human beings is the part of the system for —
A) Nutrition B) Respiration
C) Excretion D) Circulation
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iv) Trafafias o @ Sa-w ug gl # 3eEm R 7 1]

) sgfem )RR
®) TR q) HIEIHEHA
Which of the following is an example of plant hormone ?
A) Insulin B) Thyroxin
C) Estrogen D) Cytokinin
V) T o §h0 § F, it 1 i ST AT B # - 1)
H) 1:2:1 9) 1:3
g) 2:1 g) 9:3:3:1
Genotype ratio in F, generation of a monohybrid cross is —
A) 1:2:1 B) 1:3
C) 2:1 D) 9:3:3:1
vi) Frefafea § & #9 dt st & e w6 38 i & fog
39T HET & ? (1]
) wrufie Iueie
9) fedta suvie
g) g IusiwI
g) IICH ‘
Which of the following fix up the solar energy and make it available for
heterotrophs ?
A) Primary consumers
B) Secondary consumers
C) Tertiary consumers
D) Producers
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vii) el v i wshar B R i BiE gt £ wwe R - 1]
#R=5 W R=f @) R=2f 7 R=4f
The relation between radius of curvature R and focal length f of a spherical
mirTor is —
A) R=% B) R=f C) R=2f D) R=4f

viii) ¥ S G, Brew 3 o0 ¥ wvarq se ot it § fadfa @ s
® | T S GE@ %N ywar (Refem) S 2, 98 & - [1]
H) o= ¥) o 7) dien 7)) &

A beam of white light passing through a prism is split up into its constituent

colours. The light which undergoes least deviation is —

A) Red B) Violet C) Yellow D) Green
ix) fqu e ufy fom & fig Pud Q & wew gour Witk @ - [1]
4Q)
W
P Q
2Q) 2Q)
) 10 q) 20 q) 4Q 3) 80
The equivalent resistance between point P and Q in given circuit is —
4€)
W
P Q
2Q) 202
A) 1Q B) 2Q C) 4Q D) 8Q
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X1)

5

et & & w9 aremt R &1 T 2 - | [1]
) HE q) TeiEn  |) aw %) 9d

Which of the following is best conductor of electricity ?

A) Tron B) Aluminium C) Copper D) Silver

<& & Siss T § St weha T B - [1]
¥) faem uw $i e
q) Ty 83 & e

q) el & gy @ i femn
q) &« & fesm

In the right hand thumb rule, the thumb points towards the —
A) Direction of current

B) Direction of magnetic field

C) Direction of earth’s magnetic field

D) Direction of force

xii) TeETER T=hE %a%m@wﬁﬁgﬁwwﬁﬁﬁlﬁél

A T AN ¥ Y feum 2 - [1]
T i

a1) wrEff A ¥) erff 3

H) B @ A AT A G T) O A il F AR A T
According to given diagram current is flowing in a conduct:?r placed

perpendicular to a magnetic field. The direction of force acting on the

conductor 1s
Current 1
¥

—

> Magnetic field B

——
-

A) to the left B) to the right
C) out of the page D) into the page
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xiil) /b 3R a7 gorfis aner % wey arfifear A 39 A @ - [1)
3) H, 9) O,
q) CO, g) SO,
The gas evolved on the reaction between zinc and dilute sulphuric acid is —
A) H, B) O,
¢) Co, D) SO,

Xiv) T IS foemm %1 pHEH @ - [1]
) 1.2 ) 7 |) 74 3 10

XV)

pH value of a neutral solution is —

A) 1.2 B) 7 C) 7.4 D) 10
SAUERAT : 2PbO ) + Cyy — 2Pbyy + CO, [1]
F ) SmIERa R w

ii) e SEATFIES ITERE B TR |

iii) shreA Iu=fE & @ # |

iv) oI HiFaEe AR A W R |
IqO=a FAfRaT & foe oo Fe 2 -

ar) i) 3 i) q) Had i)

) *Had ii) ?) iii) 3 iv)
Reaction  : 2PbO, + C) = 2Pb(, + CO,(,)
Statements : 1) Lead is getting oxidised.

i) Carbon dioxide is getting oxidised.

iii} Carbon is getting oxidised.

iv) Lead oxide is getting reduced.
True statement for above reaction is —

A) i) and ii) B) Only i)
C) Only ii) D) iii) and iv)
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xvi)mm%mmﬁwmﬁﬁm%— 1]
) 3 T s
¥) 6 3) 7
Number of electrons present in M shell of phosphorous atom is —
A) 3 B) 5
C) 6 D) 7
xvil) U ERSHET & - [1]
¥) C,H, s) C,H,
H) C,H, T) CgHg
Saturated hydrocarbon is —
A) CH, B) C,H,
C) CH¢ D) CHq
xviii) W (CH,) ¥ IR Agadiors el = T ¢ - [1]
) 4 q) 7
q) 10 Q) 13
Number of covalent bonds present in methane (CH,) is —
A) 4 B) 7
C) 10 D) 13
2. T v Y gfd IR
Fill in the blanks :
i) g fem e Topenfaftr fafa ol 2 1]

A mechanism regulates the action of a hormone.

i) ST STER gEenal A EN AT e g | "

The web made by the branching food chains is called *
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i) FHIAGAT fOR[q 9% avR % wwo o § @m0 | [1)

Electric wires are usually made of copper because

iv) ﬁﬂﬁm@mw%mmm%ﬁﬁw il
sen # 9fy = 3 | [

By increasing the number of turns of wire in the coil, the strength of
magnetic field produced by a current carrying circular coil is

v) Hefifem fe w1 g & gaw e W a difie @ aw 2 [1]

The name of compound obtained on burning of magnesium ribbon in air is

vi) §F IR § 9 _ A g u1g ® | [1]

1s more ductile metal between gold and iron.

3. A STEEUHs W ; (WEET 1 IO U Vg A1 TS Ui § fifgw )
Very Short Questions : (Answer the question in one word or in one line.)
i) vaEa ®I uitafya iR | [1]
Define respiration.
i) Afersh &1 wE-A1 9T el T J 5o, wfee s 3 9w 3 W
frgaor o 8 7 _ [1]
Which part of the brain controls walking in straight line, riding bicycle and

picking up a pencil ?

iii) Ivaferft qsa =1 H1g T 3@ fafey | [1]

Write any one example of bisexual flower.
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1v)

v)
vi)
vii)

viii)

ix)

9

HET o S Hex ¥ wihg §er 1 R wwon 40 o ? (1]
In the Mendel’s experiment what was the contrasting character for white

flower of pea ?

fpelt a7 % Tre-gw (Wing)%};%q%aa&wmaq’a’m%mm% 7 [l

Which mirror is used as rear-view (wing) of a vehicle ?

e ofR iy & a1 o awE 1]
What do you understand by myopia (near-sightness) ?

gigy & fawerm e o e a w7 [1]
The potential difference is measured by which instrument in circuit ?

fopelt ferega TR ARG % BT IeH FRARRI & Bl & T
e | [1]

Draw the field lines of a magnetic field produced due to a current carrying

solenoid.

CaO + H,0 — [x] + & (1]
sqtva sie 3 [x] 1 TEERE W iR |

CaO + H,0 — [x] + Heat

Write chemical name of [x] in above reaction.
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N) R = fafyg Hifm | 1]

Draw beaker.

xi) HTEIEITR 3T § IuRrd yemrEtesh O 1 §F ffan | 1]

Write formula of functional group present in carboxylic acid.

Xii) I &k el et #i fre wheer # e w0 aRey § 7 Few SO
ST B | 36 &0 7 Rvdrer e v freneff ¥ ave % woly frera %
H-8 T i firg fean 7 fafau [1]
When the aqueous solution of acid is put in electric circuit, the bulb

connected in circuit starts glowing. Write which property of an aqueous

solution of an acid did a student prove by analyzing this observation.

©UE - |
SECTION - B
THTH U9
Short Answer Questions :
4. IrEg qYT A vaEe 1 3at fafae | 2]
Write difference between aerobic and anaerobic respiration.
5. ‘Tlafﬁ o Elﬂ-ﬂ?ﬂﬁ'clﬁq nfaat =t qgussy | 2]

Explain phototrophic movements in plants.

6. WHE % T @ H WY A AT @ Wi 6w wwsw | [1+1=2]
Explain functions of two organs found in male reproductive system of human
beings.
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7.

10.

11.

12.

13.

" | o faufor 1 s R SR | 2]
Draw a line diagram of sex determination in human beings.

AT o FEa ¥ ¢ 3o g Rl | [1+1=2]
What is refractive index ? Write its formula.

TS TR I T e i g1 8 7 2]
Why is the colour of the clear sky is blue ?

=] forge uftoeit 3 ferem w0 w1 s = foRen S R 2 [2]

Why an electric fuse is used in domestic electric circuits ?

WE AL % 199 U A2 SRATFRES NE F Iegsid @l el 1 & fow
g Iy S ffya Hifve | [2]

Draw the systematic equipment for showing the emission of nitrogen dioxide gas

on heating lead nitrate.

2NaOH{a Q) + Zn(s)—‘rNazZnOz(s) + [x] (2]
Iqtr PR 8§ [x] & W 9 g fefaw
2N30H(3.q) + Zn(s}_:'-"NazznOz(S) + [X]

Write the name and formula of [x] in above reaction.

7 o TS e STEIFEIES T TS AT & al 9! Tqg T =T TN UM 7
Fuiq HIfT | 2]

If copper is kept in moist carbon dioxide then what effect will happen on its surface ?

Describe.
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SECTION-C
& IS T -
Long Answer Questions :
14. e (Tt 8 1 wror gagse aut seeh sty fiET | 241=3)

Explain the reason of menstruation and write its duration.

HAYGT/OR

TR gfiTat A % SRol F AwEIET 91 g T TR g 5
M fafe | . [2+1=3]

Explain reason for adopting contraceptive devices and write the name of any one

contraceptive device.

15. dTgASH % ITaal TR T 3NN F7 hl T35 B TR g GEEIEY | [142=3)]

Explain the process of formation of ozone by an equation, at higher levels of the

atmosphere. https://www.rajasthanboard.com

JUAT/OR

ESH | FIA i 7t H fiNiee %1 U6 960 SR fha @A ) 9 T g,
g gHeh! UM o foTT 1 hieh ISTT T o7 7 [1+2=3]

Which chemical is considered to be a major cause for depletion of ozone in the

atmosphere, what step was taken to prevent this ?

16. 3 w1 Frem forflge | wfwa 1 TRafa o 35% S.1 a4 ffa | TR
AR % foTe favena wa o % 79 0% @i | [1+1+1=3]

What is Ohm’s law ? Define the resistance and write jts S.I. unit. Plot the graph

between potential difference and current for a nichrome wire.

AUGT/OR
S-07-Science
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17.

13

TR wvo w1 ot v e 2 ¢ e SRR 3 3= B TTeh o e BT
Wk wef € 7 aim ¥ Frem ¥ e 3 R aftwy R wmEd | [1+1+1=3]

What is heating effect of electric current ? On which factors the heat produced in

a resistor depends ? Draw a circuit diagram for studying the Ohm’s law.

FAR- &R Sfskan ) anemee ot 399 ffga vamates oo fafge | [241=3)
Explain chlor-alkali process and write chemical equation involved in it.

AYA/OR

ST G W ST % YHIE FI Gwsse I ga fafye vomtie st
fofgu | [2+1=3]

Explain the effect of heat on baking soda and write chemical reaction

involved in it.

o|uE -3

SECTION-D

EECIG E R i

Essay Type Questions :

18.

i) arter & dre <6t fafy st awsEg |
i) ST gRI Afed W e Uersy @ Am fafaw |
iii) &ggra § TR S Aot Qe H wE T Hif | [1+1+2=4]
i) Explain mode of nutrition in Amoeba.
ii) Write the name of protein digestive enzyme secreted by pancreas.
jii) Explain function of villi found in the small intestine.

Er/OR

S-07-Science [Tarn Over



https://www.rajasthanboard.com/

i) GUHIRRm T qiwer ) 4t @y goeme |
i) 7E o Uiy g wifa Wi e teen &1 Am fafEe |
i) 79 1 &aTd 1 AR FH 9 aldl & 7 HRO T HIRAT | [1+1+2=4]

1) Explain mode of nutrition in Paramecium.

i) Write name of protein digestive enzyme secreted by gastric gland in human
beings.

i) Why does length of small intestine of Tiger is short ? Explain its reason.

19. i) fefifem sl 16T Fra gl & st w4 I AP mw @ d |
il A et gt W T Y T W s e e e g 7
An object 1s placed at 24 cm in front of a concave mirror of focal length

16 cm. At what distance from the mirror should a screen be placed in order
to obtain a sharp image ?

i) 37EAe U % T 3HS YA Ud g BIhE & 797 R faw % wfafes
&1 fertor s wAE | [2+2=4]

Draw a ray diagram for the image formation when an object is placed

between pole and principal focus of a concave mirror.

HAYAT/OR

i) Uk gigel + 2.0 D &HAT % HMUF o Fifa o # | e A sl
gl wd Wi T T |
A doctor has prescribed a corrective lens of power + 2.0 D. Find the focal
length and nature of the lens.

ii) 3 o= 1 wErd @ Sidlss 1 RO s = W faw F) e o,
% 7 fR@ 2 | [2+2=4]

Draw a ray diagram for the image formation when object is placed between
F, and 2F, of a convex lens. |
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20. @ ) W 23 gu AEA 3 e R A B fagerm Fifaw | (2+42=4)

Analyse the cleaning action of soap and detergent by giving structure of
micelles.

AFUA/OR

fifea T aftem S vdkes ame 6 PrefiRaa sffraatt = favemm
Hfr |

i) Tt arfsean

i) @ & ary e | [2+2=4]
Analyse the following reactions of ethanoic acid by giving chemical equations
involved.

i) Esterification reaction

11) Reaction with alkali.
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